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11. Explain the difference between falling average direct costs due to
the experience curve effect and falling average total costs due to

the effect of economies of scale. (6 marks)
12. Explain the term ‘synergy’. 3 marks)
13. What does ‘overtrading’ mean? (4 marks)

14. Which one of the following is not a phase of Greiners model of growth?
a) Collaboration
b) Communication
¢ Creativity
d) Delegation
e] Direction (1 mark)

15. Which of the following is not one of the crisis factors in Greiner’s
model of growth?
al Autonomy
b) Control
¢) Growth
d) Leadership
e] Retrenchment (1 mark)

16. Analyse the characteristics of businesses in phase 1 of Greiner’s
model of growth and how these lead to a crisis of leadership. (O marks)
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